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Seating Arrangement Questions for SBI PO Pre, IBPS PO Pre, IBPS Clerk
Mains and SBI Clerk Mains Exams.

Set No 106

Directions: Study the following information carefully and answer the questions given beside.

Eight students Aadvik, Tanish, Jiral, Vaibhav, Yashith, Bhavin, Rithwik and Kiansh sit in a square table. Four
persons sit in each corners of the table and four persons sit in each sides of the table but not necessarily in the
same order. All are facing outside. Aadvik is immediate neighbor of Kiansh. Bhavin does not sit third to the left
of Tanish who doesn’t sit at the corner. Bhavin sits fourth to the right of Yashith. There are three persons sit
between Tanish and liral. Jiral sits third to the left of Vaibhav. One person sits between Jiral and
Kiansh. Rithwik and Kiansh are not immediate neighbors.

1. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to the group?

A. Aadvik B. Vaibhav C. Bhavin D. Yashith E. Rithwik

2. Tanish is related to Kiansh in certain way, Bhavin is related to Aadvik then in the same
way lJiral is related to which among the following?

A. Rithwik B. Tanish C. Vaibhav D. Bhavin E. Aadvik

3. Who among the following sits fifth to the right of Kiansh and immediate right of Rithwik?

A. Aadvik and Vaibhav B. Only Bhavin C. Vaibhav and Yashith D. Tanish and Yashith
E. Only Vaibhav

4. Which of the following person sits between lJiral and Kiansh?

A. Tanish B. Rithwik C. Aadvik D. None E. None of these.

5. Which of the following person sits opposite to the one who sits second to the right of
Rithwik.

A. Bhavin B. Jiral C. Tanish D. Yashith E. None of these.
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Common Explanations:

References
There are three persons sit between Tanish and Jiral. Jiral sits third to the left of Vaibhav.
Bhavin does not sit third to the left of Tanish who doesn’t sit at the corner.
One person sits between lJiral and Kiansh.
Rithwik and Kiansh are not immediate neighbors.
Inferences
From above statements,
o Tanish does not sit at corner of the table, and then he must sit in the middle of the table.

Based on the remaining statements we get the following cases as follows

Case: 1

Vaibhav Tanish
:

Kiansh +1—— —1

|
ok ¥
* Rithwik  Jiral

Case: 2

Vaibhav Tﬁr;ish Rithwik *
|

- —r Kiansh

|
oo
Jiral  Rithwik*

References
Aadvik is immediate neighbor of Kiansh.
Bhavin does not sit third to the left of Tanish who doesn’t sit at the corner.

Bhavin sits fourth to the right of Yashith.




Inferences

From above statements, we get the following case,

Case: 1 [Eliminated]
No place: Bhavin sits fourth
to the right of Yashith.

Vaibhay Tanish
v T ,x

Kiansh +1— —T*
|
' v "
* Rithwik  Jjral
Aadvik
Case: 2
) Bhavin
Vaibhay Tanish  Rithwik*
:
- — Kiansh
|
v -
Yashith  Jjrg|  Rithwik*
* Bhavin

Finally, Rithwik sits immediate right of Yashith. Thus we get the completed seating arrangement as follows,

Vaibhav Tﬂf%ish Bhavin
|

Rithwik +— —r* Kiansh

|
v
Yashith  Jjrgl  Aadvik




Answers :
1. The following common explanation, we get "Rithwik sit in the middle of the table".
Remaining 4 persons sit at corner of the table.

Hence, option E is correct.

2. The following common explanation, we get "Rithwik".
Relation: Tanish is second to the left of Kiansh
Bhavin is second to the left of Aadvik similarly
Jiralis second to the left of Rithwik

Hence, option A is correct.

3. The following common explanation, we get "Only Vaibhav".
Fifth to the right of Kiansh is Vaibhav and immediate right of Rithwik is also Vaibhav.

Hence, option E is correct.

4, In the following common explanation it is clear that Aadvik sits between Jiral and Kiansh.

Hence, option Cis correct.

5. In the following common explanation it is clear that Jiral sits opposite to one who sits second to the
right of Rithwik.

Hence, option B is correct .
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